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String[] loadStrings (7 7 1 JL£&)

String[] lines = loadStrings(“keyaki.txt”);
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String[] moji = “Akagi, aircraft carrier,1925” split(“,”)
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moji[0] = “Akagi”,moji[1]="aircraft carrier’ moji[2]="1925"
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KANAGAWA

String test="KANAGAWA?; test.indexOf
test.indexOf

("A7)->
("N7)->
: 5B TIEE L IXFFAH testindexOf(“NA’ )—>2
test.indexOr() EICENBUE  testindexOf(“T")->-1

iNndexOf (R I XFF. BRUIRD BDUIE)
test.indexOf(*A”,2) ->3
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KANAGAWA

String test="KANAGAWA?;
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test.substring() =5 A D g 7]
test.substring(4)->"GAWA” test.substring(4,6)->"GA”
test.substring(6)->"WA” test.substring(1,6)->"ANAGA”

test.substring(0)->"KANAGAWA” test.substring(2,5)->"NAG”
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Table loadTable (7 71 JL%)
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saveStringsBE#L
saveStrings(7 7 -1 JL%&, XFFE5))
saveStrings(“test.txt’,lines)
String[] lines& 9 %
inesZ#HICA > TWBXFF %
"testixt"ICEEHT
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PrintWriterB2Z# =52

createWriterB#8 CREFL 7 71 IV = iEE
printinBd# (XY v K) TEZHLU

7072 LA TERIICflush&closeZE{T9 3
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http://www.sato-lab.jp/imfu/index.htm]
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